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<#root>

Device#

show st ack- power budgeti ng
Power Stack Stack Stack Total Rsvd Alloc Sw_Avail Num Num
Name Mode Topolgy Pwr(W) Pwr(W) Pwr(W) Pwr(W) SW PS
Powerstack-1 SP-PS Ring 2145 30 729 1386 3 3
Powerstack-2 SP-PS Stndaln 715 0 333 382 1 1
Power Stack PS-A PS-B Power Alloc Poe_Avail Consumd Pwr

SW Name W W Budgt(W) Power (W) Pwr (W) Sys/PoE(W)

1 Powerstack-1 0 715 693 243.0 450.0 74.1/0.0

2 Powerstack-2 0 715 715 333.0 382.0 74.4/33.6

3 Powerstack-1 0 715 712 243.0 469.0 68.9/0.0

4 Powerstack-1 0 715 710 243.0 467.0 68.9/0.0

Tot al s:

1062.0 1768.0
286.4/33.6

<<< The sum of these 2 values is the total power consuned
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<#froot>

Device#

i ncl ude POMUL
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